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What Happens With 
   Land Use Conversion? 

 



 
 

Why Do We Care? 
 
 

Should We Care? 



Lets Compare! 
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Hydrology 101 

The Rational Method 
The Math Q = c i A 

 
Q = peak discharge, ft.3/sec. (1 cfs = 450 gpm) 
    c = runoff coefficient, unitless 
    i = rainfall intensity, inches/hour 
    A = area, sq.ft. 
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C = 0.85 C = 0.35 

i = rainfall intensity, inches/hour 

Time of Concentration (Tc):  How long does 
it take for the most "distant raindrop” to 
reach the design point? 
 

Flow Length about 2000’ 
 

Tc = assume 10 min. Tc = assume  2 hrs. 
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What Size Storm to Design For? 
•Minimum 10 year storm event on all infrastructure 

•Primary Spillways 
•All inlets and outlets 
•Non-erosive velocities 

•Consideration of the 100 year storm event 
•Emergency Spillways 
•Protect life and property 
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Lets Consider the 10-year Storm 

A = 18 acres = 784,080 sq.ft. 

The Math 
 = 0.000037 ft./sec. (unit conversion) 

Q = (0.85)*(0.000037 ft./sec.)*(784,080 ft.2) 

Q = 25 ft.3/sec (cfs) 
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The Math 
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Identifying the Problem is Easy 

Figuring the Solution is Difficult 



Proactive 

Reactive 

vs. 



Why all the fuss? 



Sediment vs. Water Control 



How big are we talking? 











 





Questions/Comments? 
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